, > 2o =, ~ ~A . A A
FET R RBERIIS(Y) F11~12-2 5% H
kS ¥ % A4 ¥K)

P | B £ ] N R|E|FE W[k |RE
P oy e Pyt ’,,? e . L
1R wl 3§ FoF e % 8L sl |l g | % | 5| (kea

B IR Foge | PR R LR 2.4 1.8 |2.5 |1
11/4 0 oF AR ca . se 5§ ok $F R k% |5.0 |2. 8 12.5 (1.0 [0.0 |748.0
o SR TATY =S FE ¥ CIE I N
11/5 | = | #F4 ’ F : 5.0 {2.4 |1.6 [2.3 [0.0 0.0 |674.0
AR mrn ey 3 1 ¥ AL
11/6 | = | #% v kil & W2 e 7%%%%? ﬁ%’f‘ii{)"g k% (5.0 [2.5 |16 {2.5 1.0 [0.0 [750.0
Fad > A5 G HEF ME- -4
et 1 vy 2 SN F¥ EWA R
| s AR F 5.0 {2.5 |1.6 [2.5 [0.0 0.0 |690.0
11/7 | = | #i i R s T e
11/8 | 7 | v 44 jmﬁ‘%& Ar"i&f%f’i ﬁﬁ“i% i'ﬁ:,}?/tjg Jaam(5.0 (2.5 |1.8 (2.5 0.0 [0.0 |695.0
FH AR BRE-EF e ENN S (i S
/11| - g o AR ’%"‘J'%Aﬁ ¢ ;:f 4”%%1\? iﬁ}?:’; k% (5.0 2.5 {1.8 [2.5 |1.0 {0.0 [755.0
FH - Foth <0 ¥ FRE sia Sl 4
. RN 4 ERE RN -y LA
N ’ ‘ P = 7 5.1 (2.5 1.6 [2.5 0.0 0.0 |697.0
/12 il W kA SN FFE 2 e
_ , L ] GRAVE 1 FBRFEFE Eay)/ :
11/13| = g L L F , k% (5.0 {203 {1.7 |25 |1.0 [o.0 [737.0
g A B %Y 27§ FEE e
oAty S S % = = AF
| LR P g 5.0 [2.5 |1.8 |2.5 0.0 |0.0 [695.0
11/14 | = > TRCESN E RTINS ¥ L E A
11/15| 7 | # ¢4 =h ?* H’%'J‘")‘%;&fg ﬁﬁq‘fi R 5.0 |2.4 |1.7 |2.4 |0.0 [0.0 [6s1.0
FEo2dF 5% hi ¥ WER AR
AR ER I L BAZFnI Q ey FAR -
%'éé@;éiaaaﬁw .
e »—~—~~~j = ESESHWERC ! —%Uzﬁ{@
B&ER -~ ES=ES FAolmEABR— KPR ¢
¥ Emeans RRBA KRS e .
2 RARSE EEE] = | *41—%57&%,‘
Al HARIER BEHARED A LS ﬁg; LREHNBSER
= B IeR R IRIE SSERM FHERIBRBEES
BERE RBF8 FRBEERBXRE

RRARBRE

RARE

KERETEHRE -

Bl BRflERURESIEES~

BEHAEME BAER

BETSAERER -




